UG-634 BAF-33

B.Com. DEGREE EXAMINATION —
JUNE, 2010.

Third Year
Accounting and Finance
INCOME TAX

Time : 3 hours Maximum marks : 75
PART A — (3 x 5 = 15 marks)
Answer any THREE questions.

Answer should not exceed 2 pages.

1. Explain previous year and assessment year.

WhasWw e H wHmib HIEEH par(H edleTésea] .

2. What are the Basic conditions prescribed for
determining the residential status of an
individual?

seafl pufler GQuimsEh searend  Bliamruin  GlEuiw
FamUILL(HeTer g iLienL FlLBSEnaTseT Wmenel?



What is the tax treatment for the following items
under the I.T. Act 1961?

(a) Gratuity

(b) Pension.

Lienll &Gl menL_ujid, QUi oardul Qg TEn gD
aumrareums gL b 1961-d erliug eufledSdnes
2 L upgsLinhdlermen?

Velan purchased a house in May 1984 at a cost of
Rs. 40,000. In June 1988, he added two rooms at a

cost of Rs. 30,000. In June 2008, he sold the house
for Rs. 4,00,000 and he paid Brokerage Rs. 10,000.

C.IL 1984-85 175
1988-89 161
2008-09 582

Compute his capital gains.

Geuewatr p. 40,00085@ em oiler G 1984-é&
auraiflenrmr. e ®er 1988e . 30,000 Geewe GFiig
@reT(H HMDEHMETS FHL g EOTTIT. g'@éﬂ 2008-&0 =B
il enL . 4,00,000-&@ Mpmrr. ighans ep. 10,000
7@ QaTHSS.

LenTeidss @NIui(h erevr 1984-85 175
1988-89 161
2008-09 582

SICUTG| APESET ASTLSMSE ST ().
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Write any ten incomes exempted from Income Tax.

aumwrareutl  eflewssd  elssiiulL gCsaib
10 eu(HLOTETRISEN T 6T(LDS)S.

PART B — (4 x 15 = 60 marks)
Answer any FOUR questions.
Answer should not exceed 5 pages.
Ganesh is an employee of a company in Chennai.
He submits the following particulars of his income

and asks you to calculate his taxable salary for the
year ending 31.3.09

(a) Salary Rs. 18,000 p.m.
(b) Bonus one month salary

(0 He and his employer contribute 15% of
salary to R.P.F.

(d) Interest credited to RPF @ 10% amounted to
Rs. 20,000 during the year

(e) He received entertainment allowance @
Rs. 2,000 p.m. from his employer.

(f) He received a gift worth Rs. 12,000 from his
owner.
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&Canrag GlFamanaruild o erer HlmiwgsHled Liewtlyfldmm.
31.3.09-60  (peuMLWD  JETGDSTET  ACUTS)

ouf

(<)

WSS UMNSGHTE STdbEL_6Lb.

g 2ardlwiid ep. 18,000

(<)) oa&s Cgmens 1 g cargluibd

(@)

Har
(a)
(b)
(©
(d)

(e)
(®

SIGU(BLD, DfeumenL_ Bimioapd 15% safluseans
Calliy pev B85 s (H&lemment

Caflliy meoBlHludled emrigm@ 10% euliqulley
em. 20,000 aupe| epeudssiiLi_(heTerg
CaaflgamnsLiLig ISSSH DS ep. 2,000
aupmISLI(HSeTmg)

sang bimeuasdL0mBgl ep. 12,000 wéllienw
uflgEsamer ieu QDD

11s the owner of two houses :
I House II House
Date of completion 31.3.96  1.7.2000
Rs. Rs.
Municipal Rental 7,20,000 12,00,000
value

Actual Rent 6,00,000 1,20,000

received (p.a.) (p.m.)

Municipal Tax paid 72,000 60,000
(Due)

Ground rent 2,000 15,600

Interest on loan for

construction 1,00,000 3,84,000

Compute his income from house property for the
year ending 31.3.09.
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anfl 2 ei(h&@Eh&E QeTbsssTy.

I &5
(=) sy (pissiul L Csé 31.3.96
.
(=) BaTTL_gluler
QUL &
&Ly 7,20,000
@) Qupm aur_ens 6,00,000
(e (HéE)
(rF) BaITLS curfl 72,000
Qsgisfug
(2) LDGHET GUITL_ NG 2,000
(2ar) &S sL_(Hb s_aer
gl eul g
1,00,000
31.3.09-&v  pgeuemLujibd

QUTLGNS GU(HLOTETSHENS SHETdhE L6 LD.

1T 56
1.7.2000

.

12,00,000
1,20,000

(or558106)
60,000

(Bgraa)
15,600

3,84,000

QTG DESTET | 6UTS)

Compute Taxable Business Income of Anandan for

the year ending 31.3.09 from the following profit
and loss account.

Profit and Loss AJc.

Rs. Rs.
To Salary (self) 10,000{By Gross Profit 50,000
To Staff Salary 15,000 By Bad debts
To General recovered 5,000
expenses 7,000By Dividend 12,000
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Rs. Rs.

To Interest on By Profit on sale
capital 2,000land (capital gain) | 15,000
To Bad debts 1,000
To Neon sign
board
advertisement 2,700
To Fire
Insurance 1,000
To Depreciation 3,000
To Provision for
bad debts 1,000
To Income Tax 4,000
To Donation 3,000
To Car expenses 3,000
To Net profit 29,300

82,000 82,000

Note :

(a) General Expenses include Rs. 500 being
Anandan’s drawings

(b) Depreciation as per I.T. Rules amounts to
Rs. 2,500 (including Neon sign board) only

6
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31.3.096b (pigeuEnL_LD YTl HETET @Ml BL L &/ (.

STUUL(heTerg).

o flenwwimeTm

gm.  pepsafer

eSlwmuITy eu(pLTETSMSE Satr (HLilq &&eLD.

@oru plL &/
€. €.

oar Tl en oW merifl eor Qorgs @emuib 50,000
DerlwiLD 10,000 eurm&sL_eo
DardlwiLb 15,000[L51" g wigy 5,000
QuTg Caay 7,000 uRIsTSWLD 12,000
(WPF L5 euliq 2,000 fleoid eflhmled
CUITT& &L GoT 1,000/Qunm epavg e
eSlemb LIy SSTWILD 15,000
S| QBIGITIT
ellens @ 2,700
EXAUNIN G 1,000
CaWiLmenid 3,000
TS LG
EININC) 1,000
GU(BLOTEuTEU ] 4,000
BTl TenL 3,000
oInsand Cgal 3,000
Blar @emLi 29,300

82,000 82,000
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@y :

(o) Qurg Qoeeilld yapgaiear er@liy ep. 500
CarbgleTeng).

(=) Quwrsgs Gguwrend . 2,500 (eminsy
cllerg @ Gargg)).

John’s investments are as follows :

(a) Rs. 80,000 8% TamilNadu Govt. Loan

(b) Rs. 40,000 9% Mumbai Trust Bonds

(¢) Rs. 40,000 10% Debentures of a Textile Mill

(d) Rs. 75,000 10% Preference Shares of an
Auto Co.,

He paid Rs. 200 as commission for collecting
interest. He had also paid Rs. 5,200 on
interest on loan taken to buy debentures of
Textile Mill.

Compute his income from other sources.
QeI SfeUTs6fle (&6 (HEET LAeTeu Lo :
(=1) em. 80,000 8% FUODPBT(H HFFTHIS ST
(<=4) 5. 40,000 9% (pbenl DDESELLeneT LGS Fhiger
(@) em. 40,000 10% seyefl pemeoudler &L e
LSS ThISET
() em. 75,000 10% (pemenfento Lk, (pHe - aumsen
HlpiosSd.
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10.

11.

wpsd@Osafler eaulyew CQup . 200 FrEssTs
Qgevay QFLigETeTm. sajafl < paneoudlem
SLTUSHTRIGMET UThRIS, SLATOUDD ASDS
. 5,200 eculiquing Cequsd o etemant jeurg
“ohm eufsefled” cumrerd ser(H ..

What is meant by deductions from total income?
Explain any five of such deductions.

Qrss eumwrardladl(Bbhg SPSSOSET T GTeTe?
gCaaib @bgl HSs0Hmer alleu&saLb.

The following particulars are given by Dayal for
the AY 2009-10. Compute his taxable Income.

(a)

(b)

(c)

Salary Rs. 30,000; Bonus Rs. 3,000. He and
his employer contributions 11% of Salary to
RPF. Professional Tax paid Rs. 600.

His house is let out on a rent of Rs. 5,000
p.m. Municipal Taxes Rs. 500 and collection
charges Rs. 300. The house remained
vacancy for two months. Interest on loan for
construction Rs. 4,000

Gifts of cash received from friend
Rs. 2,00,000. Gifts of cash from his wife
Rs. 20,000.

EDFEMTL SHEUDSEMET FUITD ShIGEHEE faflSemm.
2009-10 wdLnSE <6y DETET SIeUTS UHLOTETSMSE
SATEE L6 LD.
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12.

(<)

(@)

sarflwd . 30,000; sagssCgmens ep. 3,000
DU,  eurg  psorefluyd  eadluigdle
11% Caublluy meo Hldl&@ sl hdnriser. Ggmsle
ol Qeausdluig em. 600

<eurg &I wrsb . 5,0005@ euTLM&sE
el (petergl. parmlgl eufl em. 500; eum_ans
@G Geway ep. 300. 2 LISHIGEREE SiBS 610
sTOwWrs @ pbgdTarg. i@ sL(HeushEsTE
umaiIFlw L e g el g QgausHwig) en. 4,000

se pewTUTEeTLLO(Bhg Sjeum Grréswns GQuHm
ufl&s Qgrens ep. 2,00,000; SleUrg|
werareudLBlmbg Cunp Crrés Lflastsrans
ep. 20,000.

Write short notes on :

(a)
(b)
(©

Tax-free securities
Short-term capital gain

House rent allowance (HRA).

S eOILY euens :

(=)
(<)
(@)

aufl @ GOETS 4,6 GTTBIGET

GNEL ST PLPOFHET D4STUID

eI (DeurLensLiLy.
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